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1. \ishi has 4 pairs of white earrings and 5

MmaTH

. o
Whatis the ratio of number of boys 10 the number
il o

. There are 16 girls and 24 boys in a clagg
girls? '
piwan drives hi f

Rizwan drives his car ata speed of 60 km per hour whercas Ravi drives his car at the specd 0
45 km per hour. Find the ratio of the speed of Ravi's car to Rizwan's car

- . * i r
: pairs of red earrings. What is the ratio 0
camrings 10 the total number of pairs of earrings? *

. Atempo travels 60 km in 2 hours and a car travels 80 km in 1 hour, Find the ratio of theif specd-

white

3 Which ratio is greater: 3: 17 or § ; 519

-w Find the ratio of the following:
_{a) 15 minutes to I.5hours  (b)25cmto25m  (c) 60 Faise to¥] (d)400mL to 1.6L

(7.'Rgema has 24 cups and 18 saucers. Find the ratio of the fol

§

owing in the simplest form:
(a) Cups to saucers (b) Saucerstocups
(c) Cups to the whole crockery (d) Saucers to the whole crockery
. Ina sports academy there are 30 cricket players and 20 football players getting training. Find
the ratio of the following in the simplest form:
(a) Football players to cricket players (b} Cricket players to football players
(c) Football players to all players (d) Cricket players to all players

9, Mr. Pillai cams ¥ 18,000 per month. He spends ¥ 12,000 and saves the rest. Find the ratio of

%\(C} His savings to income

the following in the simplest form: . _ . ‘
(a) His income to expenditure (b) His expenditure to savings Ko
: (d) His earning to savings 4o ¢
The resent age of a father is 36 years and that of his son is 8 years. Find the ratio of:

(' present age of father to the present age of son.

b) age of father to the age of son, when son was 6 years old.

"TEC) age of father to the age of _son.-al't_er‘lﬂ years.

{l(d) age of father to the age of son’

vhen _fa!her was 30 years old.
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) nd the cost of 3 kg rice. ' )
x5/ The cost of 35 inkand leters is 2 105, What will be the cost of 60 such inland letters’
he weight of 12 tables i 132 kg, What will b the weight of  such tbles?

xﬂ/}n Himchal Pradesh, th rainfall was 366 m in the last four days. If the weather conditions
d rainfall remain the same, how much rainfall is expected in a week?
3/ Th
h %

¢ cost of a dozen egas s ¥ 30, What will the cost of 13 egas?

imanshu purchased 7 pens for? 91 and Shubham bought ) pens of the same quality for 10§,
'ho bought the pens a1 3 cheaper ruté?

W/IN6L petro} is required to cover a distance of 256 km, then how much petrol is required to
%

ver a distance of 400 km?
ﬁl acroplane covers a distance of 2,550 km in 3 hours. How much distance will it cover in
hours? Assume that Nying conditions remain the same,

A transport company charges ¥ 1,800 (o carry 24 boxes. How much will it charge for 1§ such

)‘\

Joxes?

Atruck requires 108 L of diesel for covering  distance of 594 k. How much diesel will th
(ruck require o cover a distance of 1,650 km?

machine produces 240 m of cloth in 4 hours, How many metes of cloth will be

0 days, if the factory runs for 18 hours a day? t‘-\:

produced in

10
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| Find the measure of the side of a regular hexagon whose perimeler is 96 cm.

2. Find the breadth of a rectangle whose perimeter is 880 m and length is 315 m.

3. What happens to the area of a square if its side is halved? P

4. An athlete takes 10 rounds of a rectangular park 200 m long and 100 m wide. Find the otal
distance covered by him, .

5, What happens to the area of a rectangle, if the length is doubled and the breadth remains the
same?

6. A rectangular piece of plot measures 0.5 km by 0.4 km, Fach side is to be fenced with 4 rows
of wires. What is the length of wirc needed? If the wire costs ¥ 11 per metre, what will bc the
cost of wire required for fencing? "

7. Aroad 100 m long and 20 m wide is to be paved with bricks, each measuring 25 cm by 10 ¢m.
Find the number of bricks required.

8. A stick, assumed to be | m long, measured the sides of a rectangular field. The arca thus
calculated was 900 sq. m. Later on, it was discovered that the actual length of the stick is
90 cm. Find the correct arca of the rectangular field.

9. Aroomis 3m 10 cm long and 4 m 90 cm wide. How much carpetis required to cover the room!
What will be the cost of the carpet, if 1 5q. m of carpet costs ¥ 600?

10. The cost of laying grass in a rectangular park at the rate of ¥ 10 per sq, m is % 4,800, Find the
cost of constructing its boundary at the rate of % 800 per m if the park is 20 m wide,
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|. Draw a circle of radius 2.8 cm.

2. Draw a circle of radius 4 cm. Draw another circle concentric with it of radius 5 cm.

3. Drawacircle and any two of its diameters, What figure is obtained by joining the ends of these
diameters?

4. Construct a line segment measuring 7.3 cm using (a) ruler only, (b) ruler and compass.

5. Draw aline scgment of length 6.8 cm using a ruler, Construct another line segment of the same
length using a ruler and compass.

6. Construct a line segment of length 4.2 em. Use a ruler and compass to draw another line
segment double its length.

7. Draw any linc segment AB. Without measuring AB construct another line segment of the same
length.
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8 Express oach of the follwing fractons 8 & P2 (d) 17
20

9
@y CF: © 15
0% O3

"’ Express each of the following as a fraction in its lowest frm

@ )% (c) 38% '

- 1 e
(0 82% (9) 67%% (h) 1125% () 163%

5 Express each of the following as a decimal fraction.
() 13% (b) 5% (¢) 15% (d) 24%

(1) 81% (0) 105%  (h) 250% (1) 6.25%

"8 Express each of the following decimal fraction Into percentage.

(a) 0.6 (b) 0.08 (c) 058 (d) 0.483
(9248 (96025  (n)3%6 (i 4.20
"7 Which of the following Is equivalent to 5%?

(a) 0.5 (b) 0.05 ()5 (d) 0.005
'8 Which of the following is equivalent to 12.5%? .

" (a)1.25 (b) 00125  (c) 125 (d) 0.125
& Which of the following s equivlent fo 7,57
7 (@) 75% () 750%  (c)0.75%  (d)7.5%
10 Which of the following is equivalent o 6,087
~ (@)608%  (b)608%  (c)608% (q) 508
12.6 TO FIND PERCENTAGE OF A GIVEN niianrrmy .

(e) 4<

(e) 789,
1
(!] 1 'é-%

(e) 69
(1) 10.02¢,

(e) 2.76
(1) 8.75
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"} Find

") 2ol 1el () 16% o 60
(9) 24% of 60 litres ([) 45% of 900 metres
(g 25%0f 125 ) 7% ol 4k
() 120% of Rs. 500

"_z Express
(8) 15 paise as percentage of Re 1
(b) 20 as a percentage of 25

107

14
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(c) 6cm as a percentage of 1m
(d) 5cm as a percentage of 2m

(e) 12g as a percentage of 500g

(f) 10 litres as a percentage ol 15 litres

(g) 350m as a percentage of 3.5km C
(h) 250g as a percentage of 2kg

(i) 75p as a percentage of Rs 4

() 24cmasa percentage of 2.5m
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2 Find the jo lawing
55 In oach of tha fol :
(8) CP =R 8 SP=Rs.5

() CP=Rs.3450  §p=Rs 2225
() cp-= Rs. 675 SP.=Rs. 615

(d) CP= Rs. 1250 SPnRs 1125 | .

(8) CP=Rs 7015 SP.=Rs, 7010

3 Find the profit o loss;
(ﬂ) CP= Rs. 80 S.P.=Rs.68
(b) CP.=Rs. 18 SP.eRs. 2
(€) CP.=Rs. 415 S.P.= Rs. 450
(d) CP.=Rs. 545 SP = Rs. 505
(8) C.P.=Rs. 650 S.P.=Rs.6.05

4 Find the S,P.In each of the following:

(@) CP.=Rs.4 Loss = Rs, 1,50
(b) CP.=Rs. 12 Profit = Rs. 4
(c) C.P.=Rs.65 Profit = Rs, 10

(d) C.P.=Rs.305 Loss = Rs. 15
(e) C.P.=Rs. 1060 Loss = Rs, 110

'8 Find the C.P.in each of the following:

(8) SP=Rs.15 Profit = Rs. 3
(b) SP=Rs.24 *  Loss=Rs.4
(¢) SP=Rs.90 Loss = Rs. 15

(d) SP.=Rs.210 Profit = Rs. 15
(6) SP.=Rs.4215  Proft = Rs.405

— s e ety -
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~pr
WORD PROBLEMS ON PERCENTAGE
"% Sudha scored 24 marks out of 40. Express her marks as percentage.
led in Maths. There are 50 students in the ¢}

"a Inaclass 10% fai
4 $ 10% of the stucenis Maths. Also find the number of students Passeg

Find how many sludents failed in
in Maths.

“& Mr. Khanna's monthly salary is Fs. 9400. He spends 80% of his income e,
~ month. Find his monthly expendituré, Also find his monthly savings.

"8 A basket contains two dozen mangoes. 25% of the mangoes are bad. Find thg
~ number of good mangoes.

7 Aol can contains 16 litres of oil. Due to leakage 2 litres of oilis lost. Whal percentags
ol oil Is losl?

"ja'u Abhishek got 684 marks out of 900 marks. Express this as a percentage.
' Out of Rs. 20 pocket money Rajesh spends Rs 14. Express this as a percentage.
101 In a class of 48 studenls 4 are absent. What percent is absent ?

I
111 Rakesh got 20 marks out 25 In English, 31 out 40 in Hindi and 65 out 80 in Maths.
In which subject his percentage of marks Is best?

; 3 180 students appeared for a board examination. Out of them 85% studenls passed
How many students falled. .

') Which Is greater 045 or 45 3 %?

14 For the school play class V students sold 344 tickets out of 400 tickets and classV!
students sold 582 tickets out of 600 tickets. In which class sale percentage wes
higher ?

1"31 In a cricket match India scored 300 runs. 126 runs were scored by Sachin Tendulka!
only. Find the percentage of runs scored by Tendulkar only.

1inR
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,mm average of
/) 90,41, 47, 48, 40, 44 /(b) 120, 100, 84, 98, 88
i ()10.12. 14,9, 15,12,17,13,8,10 (d) 35, 42, 31, 53, 16, 34,27

| U0)24,21,26,25,18,20,21,28 {0 7;.al|a-§-,4
7 1.5 ,1 .4 3.3 .12 9 A1
5'13'25' 2'°3 (h) 25 35: 2'5' 10" 2

7 53105 13113

[xmﬂ' 5'54 2 12'6 '014'4'2'6'5

)Tho rainfall in Jamshedpur for 6 conseculive years was 28.5 cm, 30,25 cm,
71924 cm, 31.6 cm, 24 cm and 30.25 cm. Find the average rainfall of Jamshedpur.

bsmn of a family are 61, 32, 58, 26 and 5 years old respectively. Find the

. average age of the family.
Rs. 15, Rs. 60, Rs. 120, Rs. 86, Rs. 55 and

: )“‘mstolabooksareﬁs 18, Rs. 30,
{114 "R 42 \Whal Is e average ostof 8 b0oK?

The month of 5 men are Rs. 2220, As. 3150, Rs. 2780, Rs. 4
iy monthly income?

4000 and Rs.

A 1'11340 What is their average

s,

18
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Write In symbols
(1) Nine plus ¢

(3) ¢ plus three
(5) a minus five
(7) Two plus b minus ¢
(9) k minus | plus m
(11) s multiplied by t
(13) Twenty one m divided by seven n
(15) Tenp over two q
(17) linto m divided by n
(19) a plus b divided by ¢
(21) five times x
(23) Seven into p minus three into q
*(25) Divide the sum of a ard b by two
(27) Half of x equals four

(29) The sum of a and six equals six plus a

(30) Four times p increased by ten equals eighteen

(31) Eight ¥mes m divided by five equals two n

(32) Since three times | equals fifteen, therefore | equals to five

~

(2) x plus ¥y
(4) Six addedlop
(6) | minus n
(8) ¢ plus d minus e
(10) Two multiplied by five
(12) xintoy into z
(14) x divided by y
(16) poverq
(18) x into four divided by y
(20) 1 minus m divided by n
(22) Two times x into y
(24) Thrice the product of k and |
*(26) Dividethe sumof2,aandbbyc
(28) Twice of p equals q

(33) Seven times r minus nine s is less than twelve

(34) The sum of x plus y is greater than the ditference of pandq

(35) One third of x is less than one fourth of y.

(36) Because one fourth of n is less than three, therefore n is less than twelve
(37) Since one fifth of p is greater than q, therefore p is greater than five q

19
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